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Stat 2470, 3/5 Discussion Questions N

Instructions: Attempt to answer these questions b
before coming to class on the date above.

1. In what way are confidence intervals bette
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2. What is the most common confidence leve
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3. Describe two ways of interpreting a confid
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4. What is the general formula for a confiden
known?
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Why do we use the standard error of the s
deviation of the population distribution?
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When we increase the confidence level, w
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When we increase the(sa size, what ha
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v reading the textbook or with online resources

r than point estimates?
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| used for confidence intervals?

ence interval.
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ce interval, of any level of confidence, when o is
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ampling distribution rather than just the standard
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hat happens to the confidence interval width?

ppens to the confidence interval width?
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8. If we have a certain leve! of accuracy (width|of the confidence interval) in mind, what is the
formula for calculating the same size needed for that level of accuracy? And how do we round
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9. Write the equation above in terms of the error rather than the width (w = 2E).
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10. How do large samples confidence intervals with s differ from confidence intervals when o is

known?
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11. What do we mean when we say “large sample”? How large is large enough?
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12. How do we calculate these z-confidence ir tervals in our calculator?
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13. The formula for the confidence interval for a proportion is significantly more complicated. What

is it?
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14. What is the simplified version when n is very large?
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15. How do we calculate this interval in our calculator?
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16. What is the long version of the formula for the sample size using proportions?
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17. What is the reduced version of this formula?
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18. When p is not known in advance of sampli
when calculating the sample size?
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19. Why might we want to calculate a one-sided confidence interval?
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ng, what is the most conservative estimate to use
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